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(b) The diagrams show part of the human respiratory system.
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Alveolus

Source: Adapted from Introduction to Biology D.G. MacKean
(i) Name parts A and B.

A [1]

B [1]

(ii) Describe how an alveolus is adapted for gas exchange.
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In the UK about 120,000 people per year die of smoking-related 1
diseases. 82% of all deaths from lung cancer, 83% of all deaths

from bronchitis and emphysema and about 25% of all deaths from
heart disease are linked to smoking.

People who smoke between 1 and 14 cigarettes a day have 5
8 times the risk of dying from lung cancer compared to non-

smokers. The risk increases the more cigarettes are smoked; those

who smoke over 25 cigarettes a day have 25 times this risk.

Many smokers would like to quit. Ten years after stopping

smoking the risk of getting lung cancer has fallen to half that ofa 10
smoker and the risk of having a heart attack is the same as never
having smoked.

(i) How many people die of smoking-related diseases each year?

[1]

(ii) Complete the table. (Lines 2-4)

Cause of death Percentage .llllked
to smoking
Bronchitis and emphysema "
25
[1]
[1]

(iii) Describe the difference in the risk of smoking 10 cigarettes per day
compared to 30 cigarettes per day. (Lines 5-8)

[2]

(iv) Which chemical in cigarette smoke can cause lung cancer?

[1]

(v) Suggest why people who smoke cigarettes find it hard to stop.

[1]
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